Two-step inequalities - integers - hard

Solve an inequality:

24+ p
52

1) <2

22+ X
-15

3) 6<

5) -1475<-40x+5

7) —217<7-28v

n
9) 27<— +32
11

13) -g> "N~
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17+k

2) 142

n
4) 365 +39

6) _3>m—8

i
8) 36 +— =25
-4

10) -21 + 10b< —641

12) 1145 >-10 + 15x

14) —19< 2~ 16




15) -24> - - 26
17

n
17) 13+—2>11
29

19) 896 > -28 + 14n

21) 10 + 17 <-18

23) —625> 19r — 17

~12
v e
-3
_7 +
27) -19> Y
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-10+ x

16) 15<

18) -36p - 39< -183

m
20) 21<8+—

22) 601> —24b + 1

+
26) 1> 35+b
28

28) % ~15<-16



a
29) —9s%—22 30) 14<23+
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Two-step inequalities - integers - hard

Solve an inequality:

24+ p
52

1) <2

p<80

22+ X
-15

3) 6<

X < —68

5) -1475<-40x+5
x< 37

7) —217<7-28v

v<s8

n
9) 27<— +32
11

n>-55
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n
4) 365 +39

n=-18

6) _3>m—8

m< —-25

i
8) 36 +— =25
-4

r<44

10) -21 + 10b< 641
b< -62

12) 1145>-10 + 15x
X<77

14) —19< 2716

a>-22



15) -24> - - 26
17

x< 34

n
17) 13+—2>11
29

n=-58

19) 896 > -28 + 14n
n < 66

21) ~10+ > <-18
-7
X > 56

23) -625= 19r - 17
r<-32

~12
o5) 1

<-6

_7 +
27) -19> Y

v <-69
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18) -36p—-39<-183
p=4

m
20) 21<8+—
-5

m< —65

22) 601> —24b + 1
b>-25

+
26) 1> 35+b
28

b<-7

28) % ~15<-16

X< -6



a
29) —932—22 30) 14<23+

a<63

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 3-





